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This question paper contains all objective questions divided into three categories. Each
question has four answer options given, ' ' '

Category-1 : Carry | marks each and only one option is correct. In case of incorrect answer oi:
any combination of mong than one answer, % marks will be deducted. o

Category-11 : Carry 2 marks each and only one option is correct. In case of incorrect answer
or any combination of more man one answer, Y, marks will be deducted. :

Category-lll: Carry 2 marks each .and one or more option(s) is/are correct. If all correct
answers are not marked and also no incorrect answer is marked then score = 2 x number of
correct answers marked + actual number of correct answers. If any wrong option is marked or

if any combination including a wrang-option is marked, the answer will considered wrong, -

but there is no negative marking for the same and zero marks will'be awarded. . -
Questions must be answered on OMR shieet by darkening the appropriate bubble marked

(A), (B), (C)or (D).

Use only Black/Blue ball point pen to mark the answer by comlp'lcte'ﬁlling_ up of the
respective bubbles. : " : - ' '

. Mark the answers only in the space pmvided.' Do not make any straiy mark on the OMR.

Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles. : -

Write your name-(in block letter), name of the examination centre and put your full signature

in appropriate boxes in the OMR.

The OMRs will be processed by electronift means. Hence it is liable to become invaiid if -

there is any mistake in the question booklet number or roll number entered or if there is any
mistake in filling corresponding bubbles. Also it may become invalid if there is any
discreparicy in the name of the candidate, name of the examination centre or signature of the
candidate vis-a-vis what is given in the candidate’s admit card. The OMR may also become
invalid due to folding or putting stray marks on'it or any damage 10 it. The consequence of

* such invalidation due to incorrect marking or careless handling by the candidate will be sole

responsibility of candidate. :
Candidates are not allowed to camry any written or printed material, calculator, pen, docu-

pen, log table, wristwatch, any communication device like mobile phones’ etc. inside the -

examination hall. Any candidate found with such items will be reported against & his’her
candidature will be summarily cancelled. : T
Rough work must be done on the question paper itself. Additional blank pages are given in

Hand over the OMR to the invigilator bcfore leaving thc_Examinhtion_Hall.

This paper contains questions in both English and Bengali. Necessary care and precaution'

were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found

between the two versions, the information provided in the English version will stand and wilt | |

be treated as final. :
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‘. PHYSICS | _
‘Unless otherwuse specified in the question, the followmg values should be used s
Mechanical equivalent of heat, J = 4.2 ] cal_‘ : '
Acceleration due to gravity, g = 9.8 ms™

Absolute zero temperature =—273 °C _ :

Speed-of Light in Vacuum =3 x 10¥ ms™' : o
The following symbols usually carry meaning as glven below

€ : electric permittiv ity of free space :

1, : magnetic permcabnllty of free spacc

R :universal gas constant
amww FA1 AT NI, ﬁ’lcwmﬁrmwwm I

it AR e, J = 4.2 .1 cal™!

Sforfsi 9, g=9.8ms2

AL WGt = 273 °C

R B SR @5 = 3 108 ms"!

m%@eﬁm@%mw«m
£,  TIETR BROR-(STST
o : TURIGH G (ool
R : S SY-33F
Category—l(Q 1t0 Q. 30).

Category-I : Carry 1 mark each and only one option is correct. In case of incorrect answer
or any combination of more than one answer, % marks will be deducted.

MWWlwmmlmmlwmﬁmm@mmm
- PfeummImaE:

1. Consnder a reglon in. free space bounded by the surfac&s of an lmagmary cube havmg S

* sides of length “a’ as shown in the diagram. A charge +Q i is placed at the centre ‘O of the

. cube. P is such a point outside the cube that the line OP perpendicularly intersects the
surface ABCD at R and also OR = RP = a/2. A charge +Q is placed at point P also. What
is the total electric flux through the five faces of }\he‘cube other than ABCD ?

‘a
'B.
0-._af.2 132 e P
a 4+ | R +Q
/D
" a C. .
@ 2 ®) L © 2 ©) =0

- : . 6gg - 630 . _

B - 3 . . PT.O.
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Four equal charges of value +Q are placed at any four vmnccs of a regular hexagon of
side ‘a’. By suitably choosing the vertices, what'can be the maximum possible’ magmtude :
of electric field at the centre of the hexagon ? '

@ 2 @ 22 © Lo > 22
4nega 41;303 . . 4m=.0a ' 41t£0a

‘a’ THOER I STty GV 75 TUGUSA (7 I Bl (I B1AfS +Q S 3rr 7T | 6]
mﬁmhwmwwm%w—%ﬂmmmmmg

a —2 0 o
' 4thoa 41:803 - : 47[808 ' 4nega

2 B 2

A proton of mass ‘m’ moving with a speed v (<< ¢, velocity of light in vacuum)
completes a circular orbit in time “T” in a uniform magnetic field. If the speed of the

proton is increased to ﬁ v, what will be time needed to complete the c1rcula_r or_tht ?.
_ ' _ . . T T

A) V2T - B) T € —-= (D) —

@ 21 ® T O3 :
“m’ O @I b, 9B S B R T v (<< ¢, [ U SIER Q@) @
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_ PC-2018
.~ A uniform cuffent is flowisig along th length of an infinite, straig'ht',' thin, hollow cylinder

of radius ‘R’. The magnetic field ‘B’ produced at a perpendicular distance ‘d’ from the
axis of the cylinder Js plotted in a graph. Which of the following figures looks like the
plot ? ' -

B B
o » . - '_ ) 15 '
TR ———sd - e
B - B -,
4 _ 'y
© | K . ) :

o BRER @R R IPAICE D G, e, Frott @I Crf AR GG 7
e 21 5 | RETCR O (V0T ‘d’ - 7acg Seon (PR *B’qR W TR
NI TG T @ G TGA @fod 7ot 7R 2 o -

B B o
W | ® _\ |
. - .
© I (D) .
- R =

A circular loop of radius ‘r’ of conducting wire connected with a voltage source of zero
~internal resistance produces a magnetic field ‘B’ at its centre. If instead, a circular loop of
radius “2r’, made of same material, having the same cross section is connected to the
same voltage source, what will be the magnetic field at its centre ? '

B B - -
@) — = 2 :
@ - e ©B ©) B

iR o fror el . P Gl S - oers-arRRA @l e

BerH A I I T @ AR R B’ (v o S = | A O RS R 7

SRR, S ST, ‘2 PR @I apt oF BeeR St T A1 TS, B OF

| o I G v e TS ? o B
B - B . .

(A)__—2- | ® > o (C) 2B .(p)_B

5 _ . " P.T.O.
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-An alternating current is flowing through a series .CR.oircuit. It is found that the currént |

reaches a value of | mA -at both 200 Hz and 800 Hz frequency. What is the resonance
ﬁ‘equency of the circuit 2 .

(A) 600 Hz (B) 300 Hz (C) 500 Hz . (D) 400Hz
mﬁcﬂﬁwna@rwﬁmmm&‘sm|mw@ AT} IR

-szoo Hz 3 800Hzi§,w\aiwamb:§ 1 mAlaﬁﬁiWW

Fo? | |
(A)_ 600Hz (B) 300Hz - (C) 500Hz '(D) 400 Hz

An electric bulb, a capacitor, a battery and a sw:tch are all in sen&s in a eircuit. How does-
the mten31ty of light vary when the switch is tumed on ?

(A) Contmues to increase gradually.

B) ~ Gradually increases for some time and ‘then becomes steady. -

(C) Sharply rises initially and then graduaily decreases.
(D) Gradually increases for some time and then gradually decreases.

435 wrfse am, %5 1R, «3fl TR @l 355 aﬁtwwmlqﬁsﬁm'
WWWW@@‘I@WWTW” |

(A) T IMGTSR A

(B) e ¥ a1 G0 8 Biaer e R AN
© mmmmewmmw
(D)’ %@qmwmewwww

Four mistors, 100 Q, 200. Q., 300 Q and 400 Q are connected to form four sides of a
square. The resistors can be connected in any order. What is the maxmwm possnble

: equlvalent resnstance across the diagonal of the square ?

A) 2100 (B) 240Q (©) 300Q (D) 2509

100 ©, 200.Q, 300 Q 8 400 Q MR SR @ G PRI 3T FE 9o TR TR

MW|mﬁwmmmmﬁm@m§m§mmmr
wmwmm"

(A) 2100 ® 240Q -(C)_ 300Q (D) 250Q
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9, Whal will be bun'ent thi'ough the‘vZOO Q resistor in the glven c1rcu1t a long time aﬁcr the

switch ‘K’ is made on?

: _ -  1 wF 4000 |
' 2uF |-
R e o [
_ E | 6V K . “
(A) Zeo -(B_) 100mA  (©) 1omA (D) | .

fo af¥fs 789ics ‘K sﬁsﬁwwmmmzwamwﬁmmm
W

oo LEF w000
——WW——-‘ % MV
2000 3oon
e AAAA ' Je-
eV kL
:(A) Zero (B) : IOO;mA_ - © 10mA (D) 1mA

' . 10 A pomt source is placed at co-ordmates (0, 1) in X-Y plane. A ray of light from the
source is reflected on a plane mirror placed along the X-axls and perpendicular to the X-
Y plane. The reflected ray passes through the point (3 3). What is the path length ofthe
rayﬁ'om(() l)to (3,3)? ' _ .
@ 5. ®) o (c')-zf D o
X-Y S@H (0, l)maﬁwﬁmmrm@ﬁwfmﬁ#@aﬁﬁx—
wex-ywﬁﬂammaﬁwa%ﬁmm@ 3)mtﬁwﬁcﬂ
w1 (0, 1)@1@5(3 3)%@%&%@@@69 |
ws e E o ol
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1L Two 1dentlca1 equ:convex lenses, each. of focal: length ‘f’ are placed side by side in
contact with each other with a layer of water in between them as shown in the figure. If -

refractive index of the material of the lenses is greater than that of water how the.
oombmed focal length ‘F” is related to ‘f' ? '

(A) F>f (B) §<F<f -'(C)-.F<.;. "~ (D) F=f

P Wm aﬁmﬁww%@awwmmmxa I
| mﬁmwaﬁmwm:mﬁ%%wm

m@%w, ‘f-aammmw‘cﬁﬂf? -«aamﬁﬂm" -

(A) F>f - (B) '_-;-<F<f (©) F<-2t: - '._'(D). Faf

Therc is a éinal]'air bubble at the centre of a solid g!_a_ss sphere of radius ‘r* and refractive
index ‘i’. What will be the apparent distance of the bubble from the centre of the spheﬁf,
when viewed from oiltside ?

W ®) i T © r[l-&] @) zero

o af‘@mrsamaaa maﬁﬁaﬁmmaﬁwwwmr

aﬂ@mﬁw Wmm@wwmwmv

@A) 1 - ® L '(C) r(l—-l-} . (D) zero
| . ' . ’ u - .. u - ) . ’
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If Young’s double slit experiment is done with white light, which of the following-
statements will be true ? :

(A) All the bright fringes will be coloured.

(B) All the bright fringes will be white.

(C) The central fringe will be white.

(D} No stable interference pattern will be visible.

B« - T 10wl v ST1 T ARICT <Pl 2 O M05q I IS 1 7

‘(A) (G @W e (fringe) AT =7

(B) R Cuget @& (fringe) I @
(© e iFa (fringe) T A
(D) I =M RSB 1 rar A At

How the linear velocity ‘v’ of an electron in the Bohr orbit is related to its quantum
number ‘n’ ? -

1 B ¥ - 1 |
(A) vee— (3) V°"'n-2" _.(C) V°'=7; (D) ven
AR FHANE 93 SEREeR G @t v Ol @RIGH Al v-99 o7 Fel|
TS 2 o

1

(A) vm-})— - (B) ve—= (O Vo o (D) ven

n? Jn

If the halflife of a radioactive nucleus is 3 days, nearly what fraction of the initial number
of nuclei will dec_ay on the 3% day ? (Given that m = (,63)

(A) 063 (B)y 0.5 o (©) 037 (D) 0.13

BF (e FoiFer oy 3 fm T of Retmm oftr arfie srer am e
ARTT S QoI Fibee S5 31 2 ((TeAT TR W 3/0.25 = 0.63)

(A) 0.63 (B) 05 C€) 037 (D) 0.13

An electron accelerated through a potential of 10,000 V from rest has a de-Broglie wave
length ‘A’. What should be the accelerating potential so that the wave length is doubled ?

(A) 20,000V (B) 40,000V (C) 5,000V (D) 2,500V
10,000 V Rrewa 7 e <o Seile fo-aofn oo tref 1 & | ooy O gt
FAS T T A SR I IS IO ?

(A) 20,000V (B) 40000V  (C) 5000V (D) 2,500V

9 ' P.T.0.
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17, In the circuit shown, inputs A and B are in states ‘1’ and 0’ respectively. What is the
only possible stable state of the outputs ‘X” and ‘Y’ ?

Bo—(o) Y
(A) X=‘1,Y="0 (B) X=°1"Y' =0’
(C) X=*0,'Y’=°I" D) X=0,Y =0
MWAGBWWW ‘178 0" | CTOHG *X° 8 Y’ SISHeJbe
G AR T O F TS AR ? '

As—r-odi

) X

B.(El-——— Y -
(A) X=‘I, Y =D B) X=‘1"Y =0
(C) X = ‘0’1 ‘Y"'=.‘1 L] (D) X = :.00‘ Y =4

What will be the current flowing through the 6 KA resistor in the circuit shown, where
the breakdown voltage of the zeneris 6 V ?

6 KQ
10V ?S\ §41-<§z
y - - | 3
(&) SmA (B) 1mA (©) 10mA (@) 3 mA
%@ﬁﬁﬁsaﬁwmaaw¢ﬁwmmakdownvolmge)ﬂﬁ6vm,*m6m
mmmmwm‘?
6KQ
. AN .
v ?S\ 4KQ
2 | 3
(4) T mA (B) 1mA (C) 10mA (D) 5 mA

10
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In case of a Siinple harmonic motion, if the velocity is plotted along the X-axis and the

'_ dlsplaccmcnt (from the equilibrium position) is plotted along the Y-axis, the resu.ltant .

curve happens to be an ellipse with the ratlo
major axis (qlong Xy _
minor axis (along Y)

-What is the frequency of the simple harmonic motion ? -

. : ) - 1 .

- (A) 100Hz (B) ZOHZ {(C) 10Hz (D) EHZ
-wam%wmwwx-wma?ﬂmmw%w

mﬁwmﬁmﬁ@mmﬁaﬁmm

ww(x AR

o o (Y- aaﬁa) 207 |
wmﬂl‘sﬁaww
(A) 100Hz =~ (B) 20Hz (C). 10Hz' _(D)' 'I%Hz.

A block of mass m, is placed on a herizontal table_ and another block of mass m, is

placed on._ top of it. An increasing horizontal force F = at is exerted on the upper block
but the lower block never moves as a result. If the co-efficient of friction between the

blocks is J1, and that between the lower block and the table is Ji,, then what is the

maximum possible vale of it /i, 7 ‘

(A) . L) (B) 1+El-z- (&) m, (D) 1+ m
' ™ - ™ : m; ' . my

' m, SR G T G SR GRER BT G m, SR S G FI o

Boim 4 9 | Tt s el ARG S 1 F = o it 1 X | e
©ia T Neoa I3 FAER 7@ o A1 | 7 307 Wy 9 @aE p, R FeA T 6

R T T T 1, T R,/ —F ST W PO S AE ?

y M2 Y. C ) e m
(A) ™, (B) .+ poy ©) m, (D) —~

1 ' o P.T.0.
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21. In a triangle ABC, the sides AB and AC are represented by the vectors 31 + ] + k and

22,

23,
the ratio of thelr respective average densities' P p2 is 2 : 1. What is the ratio of

"1 +2]j + k respectively. Calculate the angle £ ABC.

W o ®
(©) '[90°-oos“ E} | (D) (180"_—cds" E]

IS ABC- 3 AB 8 AC 1% TR 3 +j+ke] +2] +k mwm.'
FIUR | GRORGT GPI £ ABC-7 T T T 7

- L[5 : o -;.JE
_' *) o J; - o ‘B_’_-:‘?"S‘ 11

(©) (90°—o_os“ EJ ' (D) [180"_- cos ™! TSTJ
The velocity (v) of a partlcle (under a force F) depends on its distance (x) from the origin

(with x > 0)v ocT Find how the magmtude of the force (F) on the particle depends
x

on x. . : c = _

1 o 1 o e :

(A) Foc-—- (B) Foc—_ A0) Foc-—z-— (D) Fexx
5 X . X

.Fma@mmm@mv),wﬁﬁmmmmama(wxw)mﬁ@
- '.msriwv«T | me&ﬁmﬁ’mw F-mmmaﬁmﬂsmﬁw 7

(A) Foc-l— (B) Fo-cl. (O Foc—lz- : (D) Feex
. X :

3
x2 X
The ratio of accelerations due to gravity gI g2 on the surfaces of two planets is 5 : 2 and

respective escape velocities v, : v, from the surface of the planets ? o

) 52 B J5:42  (© 5:242 (D) 25:4
iﬁmq&wuf‘mﬁawwgl g =5 2 R OITH G FH SIS

Py 1P =2: 118907 B AT RO FPS v, : v, TSR ?

@ 52 B 5:42 (C) 5._2J' (D) 25:4

12



24,

25,

26.

27.

PC-2018

A spherical liquid drop is.placed on a horizontal plane. A small disturbance causes the -
volume of the drop to oscillate. The time period of oscillation (T) of the liquid drop
depends on radius (r) of the drop, density (p) and surface tension (s) of the liquid. Which
among the following will be a possible expression for T (where k is a dimensionless
constant) ? ' ' L

- | 2 - 3 3
(A) -kJ—E (B) kJﬁ L © k‘/E— (D) 'Jﬂr—
_. s - s . S 82

WW@%QﬁWWWWtWWWWNm
A CHGIGA SRS 17 O & | GHOR Foiea <fieter (T), Fftn grmd () e
O% AR 999 (p) ' *JEOF (5)-9% B &R T | oTowe; Siwex cwiAf s

@ (expression) T TS I (CTAT k G NART #33) ? o |

: ' 2 3 R
(A) kJ‘-’—T - ®) k]!ﬂ' © k]}"—‘-'- (D) k‘}-"—r—
s ¥s _ s 2

The stress.along the length of a rod (with rectangular cross s:ction} is 1% of the Young’s

~ modulus of its material. What is the approximate percentage of change of its volume ?
. (Poisson’s ratio of the material of the rod is 0.3). '

(A). 3% (B) 1% (C) 0.7% (D) 04% -
meaﬁmaWWﬁwmmﬁammﬁwmi
wefa SReEiR eal ARRAEER S T IS 2 (afa SR CIIRPTE SIS = 0.3) |

" (A) 3% B) 1% () 0.7% (D) 04%

What will be the approximate terminal velocity of a rain drop of diameter 1.8 x 10-3 m,
when density of rain water =~ 10° kgm™> and the co-efficient of viscosity of air = 1.8 x
10-3 Nsm? ? (Neglect buoyancy of air). ) .

(A) 49 ms™! (B) 98ms’! (€) 392 ms™! (D) 980 ms™

1.8 x 107} m JOR <5 BT 18R @ 21 T TF AN, I o 99 = 10°
kgm™3 Q2 IR Serel BNE = 1.8 x 1075 Nsm2 7 (IFF 2T 791 YT 3) |

(A) 9ms!' ~ (B) 98ms’ (©) 392ms! (D) 980ms!

The water equivalent of a calorimeter is 10 g and it contains 50 g of water at 15° C. Some
amount of ice, initially at —10° C is dropped in it and half of the ice melts till equilibrium
is reached. What was the initial amount of ice that was dropped (when specific heat of
ice = 0.5 cal gm™' °C"!, specific heat of water = 1.0 cal gm™! °C-! and latent heat of

" melting of ice = 80 cal gm™') ? _
- (A) 10g (B) 18 (C)y 20g . (D) 30g-

10 g Sori RS <36 I 15° C BROR 50 g & IR | ©FF F -10° C
Cwei Rrg AR 3% el 29T W2 TIMRER T SafY S 35 oicet T | TS
7o Jfme e @l TERE 7 (CieW SiE, WEF SIS S = 0.5 cal

g °C!, e SHeetfiEsE St = 1.0 cal gm™! °C, TR SECH ol = 80 cal gm™) |

(A) 10g (B) 18g (C) 20g (D) 30¢g
| 13 - . PT.O.
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One mole of a mono-atomic ideal gas undergoes a quasi-static process, which is depicted
by a straight line joining points (Vg Tg) and (2V, 3T;) in a V-T diagram. What is the
value of the heat capacity of the gas at the point (Vy, Ty) ?

(A R ®) >R © R @O0

9 g1rel et 936 - Y- 97 o <3S Svire G et T, T V-T
W@ (V,, Ty) 8 (2V,,, 3T,) REQama S} et Grdt a1 @RI I | oTesea

(Vo Ty) RP0® R T1ew wrtifet 37 2 | |
(A) R (B) %R © 2R (D) 0

For an ideal gas with initial pressure and volume P; and V, reépe‘ctively, a reversible
isothermal expansion happens, when its volume becomes V. Then it is compressed to its
original volume V, by a reversible adiabatic process. If the final pressure is P,, then which
of the following statements is true ? _
(A) P=P, ) (B} Py>P, (C) P<p - (D) Bf:—z.lj..
SARIRE B P, 8 RIS V, o0 @l et St Semniii o o1 741 T, W
1 O BIRSA 7V, | S Tt RPIs [ syt eir i sige
V; -CS e aneat wan 1 afis sypifba oiften 1ot p, 2w, O NG @I IS 3o 2
(A) P=P, (B) PP, (©) P<p 0 LI
‘ o S Vo Vi

A point charge.— q is carried from a point A to another point B on the axis of a charged

ring of radius ‘I’ carrying a charge +q. If the point A is at a distance %r from the centre

of the ring and the point B is %r from the centre but on the opposite side, what is the net
work that need to be done for this ?

7 ¢ 1 g N 1. . 1 g
@ -~ @ - o I D) —-3—
S 4megr 5 4neqgr 5 dmegr _ 5 4megr

«ﬂ?ﬁﬁ'ﬁ‘ﬁW~q-c¢,mWWﬁE‘r’W&ﬂﬁWWMAﬁﬁm_ |
Bﬁwﬁmmmﬁ’ﬁmﬁiﬁmmm;irmm&@eﬁﬁﬁ%@tﬂﬁ@ '
%rmiﬂaﬁzsmiﬁsﬂmwwdwﬁqu? -

2 2
7.9 1.9 7.4 q

A) —— B) —-— c) = D) -
®) 5 4megr : ® 5 4megr © -3 4megr 5 dnegr

14
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 Category - 11 (Q. 31 to Q. 35)

Carry 2 marks each and only one option is correct. In case of incorrect answer or any
combination of more than one answer, % mark will be deducted. -

aﬁﬁwaﬁﬁmﬁ?@wﬁmzwmﬁlwwmwmmwww
fcer v TR SO A

31. The bob of a pendulum of \i_nass ‘m’, suspended by an inextensible string of length ‘L’ as
" shown in the figure carries a small charge ‘q’. An infinite horizontal plane conductor with .
uniform surface charge density ‘c’ is placed below it. What will be the time period of the
pendulum for small amp!irudé oscillations ?

L

m
R R e kA

&) 2 | ® L
k-2 -5
© Ig—%) | ) 2 I:“EG—)
€om Egm
Ry Pl ‘L tivafa Sz qeet T QIR m S orere Pref g W’W
S SRS | ©F N ¢ cwwﬁwwaﬁﬁﬂﬂmm%
A4 IR | o RS GoeE (i (e PR FO IR ?

m
R R et 2 o e s e e g,

. L

(A) 2m L : : (B) Py
m . .

J@—%] - Ve-—g/

1] L L
©) — (D) 2=
2x4(,_.aS -3
\ Epm £gm

IB ' 1% ' ' P.T.O.
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A light charged p'arti_c!e is revolving in a circle of radius ‘r” in electrostatic attraction of a
static heavy particle with opposite charge. How does the magnetic field ‘B’ at the centre
of the circle due to the moving charge depend on ‘r’ ?
' 1 1 1

= (€) Be — (D) Bec—
r 3 5 )

aﬁweﬁmwﬁ@wﬁﬂﬁswmwaﬂésﬁ}wsﬁﬁ@m
Ww*m@ammﬂﬁwmmﬁﬁawmﬁawmmm |
TP (5 B’ é’l@r@_ ‘TR S eE? -

@) B (B) Be

1 1 . 1 I .
(A) Bo — , (B) Boe "3 (C) Be - (D) Bee =
P : r £2 . 2

‘As shown in the figure, a rectangular loop of a conducting wire is moving away with a

constant velocity ‘v’ in a perpendicular direction from a very long straight conductor
carrying a steady current ‘I’ When the breadth of the rectangular loop is very small
compared to its distance from the straight conductor, how does the e.m.f, ‘E’ induced in
the loop vary with time *t* ? a

. : Tv
R |
. > . .
1 ]
A O —wm (B) Ee =
F ) B 2 - ( ) t
(©) Eec—1In(t) D) Em..;.

| : .
form armifife #faR eier SreRR Ha e, ‘T T frmara® oot o ety
AR =18 A v e @Ot T TR A | o w5 o R i o
WW@I‘GW&WWWWW ‘E’- I WH ST “*-97 Bofg
Fron fFréa w2 | o |

| =1y

v

1

(4) Ee— | .~ (B) Ex 4
’ t t
(C) Eocc—In(t) - . (D) Ee _'3_
. t

16
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34. - A solid spherical ball and a hollow spherical ball of two different materials of densities
~ p, and p, respectively have same outer radii and same mass. What will be the ratio the

~moment of inertia (about an axis passing through the centre) of the hollow sphere to that

of the solid sphere ?
a) £2 —9—2}
Py A
5 [ | 5
® £ 1-[ ~"—2)]
- P I P
N
© & —f‘—T
M\ P2
-
o) £2 1-(1--‘-’-‘-}3
N P2

.Wp, epzwaﬁﬁmﬁeaﬁwwmme\QW|we
mﬁm(mﬁwmﬁﬁw)w mm@w“ o

[
P

(A)

N
_p2

)3 ' . ..
Y] . o

3

\

,_(

afl |
pl [

17 P.T.0.
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38, The insulated plates of a charged p@lel plate capacitor (with small separation between
.the.ﬁlate's) are api:roaching each other due to electrostatic attraction. Assuming no other
force to be operative and no radtatlon takmg place, wh:ch of the followmg graphs

approxlmately shows the vananon with time (t) of the potential d:ﬂ'erenoe (V) between

the plates ? ; - _
- . - F 3
® h S ® -/
| 0.0 >t . 0,0 >t
F 3
© I\ | ®)
0,0 -t 0 >

_Qﬁwﬁswmm(mWﬁwmwwﬁsmﬁ
fWWWﬁww&wﬁmlwmmwhﬁamw
a3 mﬁfﬁqwmmﬁm W(t)—tﬂﬁﬂﬁ'ﬂ@iﬁaﬁww (V) s
@ erftafts st 2 2

\ | | v

N | | 4
(A)I\ | L ® _/
00 >t | 00 >t
(C) o o o | .
' »t — _ » t

0,0 0,0
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Category — 111 (Q. 36 to Q. 40)

~ Carry 2 marks each and oné or more option(s) is/are correct. If all correct answers are
" not marked and also no incorrect answer is marked then score = 2 X number of
_correct answers marked + actual nuniber of correct answers. If any wrohg option is
marked or if any combination including a wrong option is marked, the answer wiil
considered wrong, but there is no negative marking for the same and zero marks
| will be awarded. o |

% I GIRF Bew 1= | mﬁﬂﬁv@wﬁmzwmlﬂﬁ@ﬁw@wmw |

932 5 BeRs 773 b A U IR A 2 x T F % Twq (e A O YT

+ ST s 7 o 1 e | A AT 1 O GRS 5 41 IR e

mamwmwmwmmmummmwmm
1, Fefe BT 74T 4N |

. 36. Two positive charges Q and 4Q are placed at points A and B respectively, where Bis at a
distance ‘d’ units to the right of A. The total electric potential due to these charges is
minimum at P on the line through A and B. What is (are) the distance(s) of P from A ?

(A) % units to the right of A S _ (B_') % units to the left of A

©) % units to the right of A : (D) dunitsto the left of A )

QewmvjﬁWWWAeBﬁwww a B RS A Re
o s d mmﬁwAeBaawmmwpﬁwsﬁmﬁmaﬁa

TE A QR P-97 @I I AP go N ? )
(A) A-aa@m%@%«qﬁ o (B) A-ﬁﬁtft‘?@% 9T
©) A-aawﬂ'@% aF (D) A-97d a9

B 19 | P.T.O.



37.

PC-2018

A non-zero current passes through the galvanometer G shown in the circuit when the key

‘K’ is closed and its value does not change when the key is opened. Then which of the
following statement(s) is/are true ?

2000 3000

100 0 o
[ Y
H!

(A) The galvanometer resistance is infinite.
(B) The current through the galvanometer is 40 mA.

(C) After the key is closéd. the current tlli'ough the 200  resistor is same as the current
through the 300 Q resistor.

(D) The galvanometer resistance is 150 Q.

'&mmﬁsﬁr*ﬁ’qﬁ%wwm@mwﬁmmﬁﬁ%w K

mmnmwﬁm@mmmmmlwﬁmm
@‘fﬁsﬁ/%%s@%a%w

(A) StTSIRBIE G S |

(B) ﬂmﬁﬁaawﬁmmMmmA |
(©) K" Rl 30 T 200 Q @I S 300 Q GITHT T R TR 2% 2T
(D) sHETEIFMNGIES @Y 150 Q

20
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38. A ray of light is incident on a right angled isosceles prism pafallel to its base as shown in

the figure. Refractive index of the material of the prism is J2 . Then which of the

following statement(s) is/are true ?

(A) The reflection at P is total internal.
(B) The refloction at Q is total intemal.
(C) Theray emerging at R is parallel to the ray incident at S.
(D) Total deviation of the ray is 150°. |
R T T! 3 TS A QD T SRR Rrew- @ Be B g o
e SIE SPRes T | frow-a7 TR afewE V2 = S @A
el Sieaf fow 2 |

@) pmﬁmm@
® Qfrs o s afewe =
©) RWW%@@SWWMWW‘ o
(D) wmgfEmEE1se | .

B e o P.T.O. .
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39. The intensity 6f a soﬁnd-appenrs to an observer to be periodic.'Whiéh of the .following
can be the cause of it ?
(A) The intensity of the source is periodic.
(B) The source is moving towards the observer.
C) The obsen;ef is mo{r-ing away from the source.

(D) The source is producing a sound composed of two neérby frequencies.
awmmmaﬁwmmmmlmmﬁmmﬁm
) St ey iy

(B) Teatfl et i o1 Wiy

© @Qﬂ%m%mmwm_

(D) ot o s o weriice e i doR .

40. Which of the following statement(s) is/are true ?
“Internal energy of an ideal gas >
(A) decreases in an isothermal process.
(B) remains constant in an isothermal process.
(C) increases in an isobaric process.

(D) decreases in an isobaric expansion.

B car SRSt

¥l e sife e Ry "

(A) TR AT ZFT 1R (B) M0 1T e e
(C) It TS s o1t (D) SWoI°t SPTRT b1 1

B ' ' 22
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CHEMISTRY R
- Category— 1(Q. 41 to Q. 70) ‘ !

Cate’gory;l Carry 1 mark each and only one option is correct. kn case of incorrect

answer or any combination of more than one answer, % mark will be deducted.

avm@@aqﬁv |=|1%¢t3wﬁm1m°m lw@wﬁmwmmm@w

41'.

ﬂmwwwﬁml

The following equillibrium constants are given :

N, +3H, = INH; K,
N, +0,=22NO; K,
1 .

’l‘he equilibrium constant for the oxidation of 2 mol of NH; to give NO is

3 2

P . | K K . K
(A) K,-%_ @ Kz—;é— ©) KQ—K"’;- (D) Kfr?_

fe=fb Rt s 239 crsar ==
N, + 3H, = 2NH,; K
N, +0, v 2NO; K,

2cnrerH3 wawmmmmﬁmq&%mﬁ

. '_ . _ 3 [0 BEiEC IR '=-,
@ xE® Kz--%- © K2 Rjﬂ © K23

23 - r._T.o.
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43.

44,

45.

46.

PC-2018

Which one of the followmg is a condensation polymer ?

@A Pve @®) Teflon " (©) Dacron (D) Polystyrene
N3 W @G condensation polymer ? |
(A) PVC C® &M © wE (D) “RPERE

Which of the followmg is present in maximum amount in ‘acid rain’
(A) HNO, (B) H$80,  (C) HC/ (D) H2C03

(A) HNO, . (B HS0,  (C) HCI (D) H,CO,

Which of the set of oxides are arranged in the'proper order of basic, amphoteric; acidic ?

(A) S0, P,0,CO | (B) ' BaO, AL,0,, 50,
(C) CaO, $i0,, ALO, - ®) €O, ALO, co
TP, TS 2 WS — I RO BT o8 w0y e SR ?
(A) $O,P,0,CO | (B) BaO, ALO,, SO,
©) €i0,510,A,0, () co, ALO,,CO

Out of the following outer electronic configurations of atoms, the hlghest oxidation state
is achieved by which one ? —_—

(A) @-Ddn? B) @-1)dn? (O (n-l)d3ns (D) m-1)dns
ﬁmﬁsmﬁa@mwmmwﬁ @mﬂ:awwrdts

SR BT ARSI 7

(A) (n-l)_dans -(B) -(n—-l)dsnsz -(C) ('n'—l)d3n§2 (D) (n—1) d ps!

At room temperature, the reaction between water and ﬂuorme produces
(A) HFandH,0, (B) HF,O,andF,0,(C) F, 0, and H* (D) HOF and HF

i Sadth, Mﬁmmwﬁﬁwmww
(A) HFand H,0, (B) HF,0,andF,0,(C) F~0,andH* (D) HOF and _HF
24 ' :
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- 49,

50.

PC-2018

" Which of the following is least thermally stable ?

(A) MgCO, (B) CaCO, (C) SICO, (D) BeCO,
e AmeRn 1oy @iAfba St ST Wie! SRGE 3 ? | |
(A) MgCO, . (B) CaCO, (©) SrC.O3. ) BeCO,
C1,0, is the anhydride of . |
(A) HOCI (B) HCIO, (C) HCIO; (D) HCIO,
ﬁwmwﬁqmi’acgo?? |

(A) HOCI  (B) HCIO, (C) HCIO, (D) HCIO,

The main reason that SiCl 4 18 easily hydrolysed as cbmpared to CCl, is that

(A) Si—Clbond is weaker than C — C/ bond.
(B) SiCl, can form hydrogen bonds.

(C) SiCl, is covalent.

(D) Sican extend its ooordination_l number beyond four.
24 & IR ST CCL,-97 I SiCl, T Reie =, ¢t =1
(A) Si-CIT@C-Clamformga

(B)  SiCl, YROGITSH THA 515 IS “MMH
(C) SiCi, ’-{?Icovalent@ﬂ'

(D) Sl W coordination number (Wﬂ% :’I“"m) @b g @‘h ?[% TS NA |

Silver chloride dissolves in excess of ammonium hydroxide solution._ The cation present
in the resulting solution is '

A) [AgNH)J® (®) [AsNH)" . (© Ag® (D) [Ag(NH,),J'

%ﬁ%mﬂmmmmmﬁwanﬁ'@mmﬁ
TGRS 271

(A) [AgNHyJ" * (B) (ASNH)  (© Ag (D) [Ag(NH;),I"
| | 25 | P.T.O.
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52.

53.
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The ease of hydrolysis in the compounds CH,COC! (1), CH; — CO - O - COCH,4 (1I),
CH,COOC,H, (IIT) and CH,CONH, (IV) is of the order ‘

(A) I>10>1>IV C((B) IV>HI>I>I

(€) I>U>IV>1I (D) U>I>IV>11

CH,COCI (1), CH, - CO — O — COCH, (I1), CH,COOC,H, (Ilf) 932 CH,CONH, (IV)-
@3 S iR aerer e w3

(A) I>U>M>1V | B) IV>IH>1>I

C I>0>Iv=>1 (D) lii>Iv>1ll

CH; - C=C 'M'gBr can be prepared by the reaction of
(A) CH,-C=C-Br with MgBr, ®) CH,- C=CH with MgBr,

(C) CH,-C=CH with KBrand Mg metal (D) CH, - C = CH with CH;MgBr

CH3-CECMgBrmm@ﬁMﬁWWWmm%ﬁ

(A). CH,-C=C— Br 93 51C% MgBr, (B) CH, - C = CH < >0% MgBr,

(C) CH, - C = CH Q3% KBr SR Mg UG (D) CH; - C = CH &4 7% CH;MgBr

The number of alkene (s} which can produce 2-butanol by.thc successive treétment of (i)

B,H, in tetrahydrofuran solvent and (ii) alkaline H,0, solution is

w1 ®) 2 © 3 (D) 4

wmmu?mm%@ammﬁ@%m 8 (i) T Hzozmma;rcsm
2-ﬁ@maa@<ﬂwcmwwnmﬁrmmnm | | |

(A 1 ® 2 - © 3 D) 4

26
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Identify ‘M in the following sequence of reactions':

CH,
CsHCLO ——— CHCINO—————>
NaOH
M H;N
| : . 0
| | 0 s i
I | o
A Cl C L B
(A) :@/ ~ci - (B ary”
- CH; ' - CH,
_CHO | | | Ql
~ CH,CI . 0 CH,
N 2ife Ridrrerm M @9t ==
CH;
. NH, Br, Cl
CgHgCl,O — 5 CgH,CINO ———=—> :
_ NaOH
M | H,N
0

) _ 0 C\Cl
- Cl... C
(A) D/ ~al | (B) CI/@/

CH{ CH;

CHO - L0 B
(© CIQ | ) C‘\C’Q
_ : _ i S

CH,CI - 0o CH;

27

P.T.o. )
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Methoxybenzene on treatment with HI produces

(A) lodobenzene and methanol (B) Phenol and methyl iodide

(C) lodobenzene and methyl iodide (D) Phenol and methanol

PrafrcafaT 1 Hi < i fiftrres etz

.o

(A) SIEICSIRE éqaa_ﬁ'-ma (B) @ @32 Rrayiker SIATeiRG

©) IIFGIREGT 932 fﬁmiﬂmm (D) TR e

K,Cr,0- L/NaOH
C,H 0 —=—2-T 5 C,H0 —2——" 5 CHI,
HzSO4 warm

H_ere, Nis

_ | N H
v W T

(G \/0\/ - (D} \I/\OH

K,Cr,0 1,/NaOH
CH 0 —2227 5 C,H0 —2—— 3 CHI,
. H2504 warm "
S (et RfEFsor N =5
OH
(B)
©) \(_\O“
;o
S 28
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58.
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'I'he oorrect otder of rqacﬁwty for the addmon reaction of the followmg carbonyl
compounds with ethylmagnesium 1od1de is :

"H H,;C
>C'=o ) _>=0_
_ H,c”

H
o (11) .
H (CH;3)5C '
>=0 ) =0
HC (CH3):C”
(n) av)
(a) [>m>a>iv. . (B IV>l>I>l
© I[>I>V>I L ) m>I>1>v

WWWWWMWWMMM
reacuon)ﬁmaimmm

O OHC~ .
H : H,C~

o a

D L
H;C (CHz),C o

am ) |
(A) I>Hm>0>v - . (B) V>II>1I>]
© I>0>IV>m - @) M>T>1>IV

If aniline is treated with conc. HZSO4 and heated at 200 °C, the product is
(A) Anilinium sulphate. . .- " (B) Benzenesulphonic acid
(C) m-Aminobenzenesulphonic acid (D) Sulphanilic acid -
SRR oG H,S0, &7 01 200 °C Twor B96 Fe1 Nosr @ Aot Semm ofs
A)  SgRRfREsREE . 00 (B) SASTIEREhRSibE

© m-@ﬂtﬁataamwﬁvwﬁ@ (D) Wﬁ%ﬁsﬁuﬁ\s

29 : o P.T.O. -
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59. Which of the following electronic configutation is not possiblg ?

A) n=3,/=0m=0 ®) n=3i=1,m=-1
© n=2/=0,m=-1 (D) n=21=1,m=0
N5 o Rt Ry e o 7
(A) n=3,I=0,m=0 |  ® n.=3?.l,f=l,r.n=-li

(C) n=2,I=0,m=-1 _ . (D) n=2,/=1,m=0 .

60. The number of unpaired electrons in Ni (atomic number = 28) are
@ o0 - ®2 ©4 o8
Ni SIS (1 = 28) FN] TG SERRGH 7 291

A) 0 " (B) 2 S © 4 - D 8

61. Which of the following has the strongest H-bond ?
(A) O-H--S - () S-H-+O  (C) F-H--F (D) F-H--0

Aea @iice H-Ieew= 1% 57 e &P 2

(A) O-H-~S (B) S-H--O . (C) F-H-F (D) F-H- O
62. The half life of C'4 is 5760 years, For a 200 mg sample of C'4, the time taken to change

‘to25mgis _' | o

(A) 11520years  (B) 23040years (C) 5760years (D) 17280 years

C*4 3 S 91 22T 5760 T 1 200 mg !4 7 AR 25 mg-« AfRT® 7w

(A) 115203g@  (B) 230403@E  (C) ST60I®E (D) 172809

B 30
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Ferric ion forms a Prussian blue precipitate due to the formation of

(A) K, [Fe(CN)J = ' (B) K;[Fe(CN)}.
(C)  Fe(CNS), - 5 (D) Fe,[Fe(CN)],
| o ST 1 PRI  (Prussian blue) SRISCHAG Geote 3¢ il o1
(A). K, [Fe(CN),] -  (B) K;[Fe(CN)]
(€) Fe(CNS), (D) Fe[Fe(CN)g], ’

~ The nﬁcleus g; Cu accepts an orbital electron to yield,

s 65 L 64 . 65
(A) SNi (B) 33Zn (©) 5eNi (D) 3.Zn

2 Cu TPEFHHS 0w < 3 o P @ el Sem I B T

65, .. ' 64 - 64 . | 65
Ni (B) _3OZn (C) 28Nl (D) 10

28 In

How many moles of electrons will weigh one kilogram ?

o 1
A) 6.023x 108 - (B x 10°!
| (_) | (B) 5108 |
- {0).. 8923 o5t ' (D) — e
9.108 . 9.108%6.023
wmmimﬁmewwﬁwmm?
(A) 6.023 x 1023 (B) LYY
6.023 | 1
— X 104 D) —————— x 108
© 9.108 : ®) 9.108x6.023 -

- Equal weights of ethane and hydrogen are mixed in an empty container at 25 °C. The

fraction of total pressure exerted by hydrogen is
(A) 1:2 (B) 1:1. © 1:16 - (D) 15:16
25meewmﬂemmwmﬁﬂwmml

'mmmmmﬁ?mwwv
_(A) l:l2- _(B) 1:1 ' (C)_ 1:16 (D) 15:16

31 | | P.T.O.
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69.

70.

PC-2018

The heat of neutralization of a strong base and a strong acid is 13.7 keal. The heat
released when 0.6 mole HC! solution is added to 0.25 mole of NaOH is

(A) . 3.425keal (B) 8.22keal (C) 11.645keal (D) 13.7 keal
GG Sla SIbre @ Sl HIwa M RIERa 2w S 13.7 keal | T39 0.6 G HCI
B3¢ 0.25 (1T NaOH 101 8 391 T, ©44 & 1Rt wiot fofs 33 ot 21 |

(A) 3.425 kceal (B) 8.22 kcal (C) 11.645 kcal (D) 13.7 keal

A compound formed by elements X and Y crystallizes in the cubic structure, where X
atoms are at the comers of a cube and Y atoms are at the centres of the body. The formula
of the compound is

(A} XY - (B) XY, © XY, D) XY,

X 8 Y diiet 3Rl Af6e «@3f s wepier @t Besa 0 A X Geneser 9eee
@GRS (corners) €32 Y GIFT T (BT SRS | & Qofta s 29

(A) XY (B) XY, € X,Y, (D) XY,

What amount of electricity can depoéit 1 mole of A/ metal at cathode when passed
through molten A/C/; ? '

(A) O03F (B) 1F ' (C) 3F - (D) I]BF
TS AICT; 9 T B AR GRS ARt | Rt ARG PHTING S T 2

(Ay 03F (B) 1F (C) 3F (D) 13F

Given the standard half-cell potéwtials {EYeftwerfotbowing as

Zn=7Zn* +2¢e EV=+0.76 V

Fe=Fe?* + 2¢" E=041V _ .
Then the standard e.m.f. of the céthwith thvbreactionr Fé"‘“*’r‘on%-) Zn?* + Fe is
(A) —035V (B) +035V € +1.17vVv. - Oy -1L17V
o R Forers STRRHRGR EBO.d 35 A ¢raal 22 :

Zn=7Zn?" +2¢” E'=+076 V '

1= Fe?* + 2e- El=041V
St (s RRBEPETFEEt + Zn —» Zn?" + Feymiomigatnndard e.m £, T
(A) —-035V B) +035V © +117V @) -117V
32 :



2.

Q1

PC-2018 |

n L Categhiy I (Q.71't6 Q.75) -
Carry2 mrks each and only one option is correct. In case of incorrect answer or any
combination of more than one answer, % mark will be deducted.

qﬁﬁmmlﬂh@wﬁmzmmlw@mﬁmmmmmmﬁm |
%o TN | |

rxr+ dﬂ H SO4 — [Y] : Colourless, suﬁ‘ocatmg gas

[Y] + K,Cr,0, + HZSO4 — Green colouration of solution

Then, {X] and [Y] are |
(A) SO; .80, (B) CKHCI ©

| [X]+ dil. H,80, 5 [Y] : IR A0TER g1
 [Y}+ K,Cr,0, + H,S0, — 7% I 53 |

IR [X] @R [Y] 58

(A) S0¥,50, @ ChLHO  (©

(Pl —B’Z—> C2H4Br2 NaNH; 1l
NH3

_ The species P, Q, R and S rcsp_ectively are _
(A) ethene, ethyne, ethanal, ethane. (B)
- (C) ‘ethene, ethyne cthanal, ethanol - (D)

B NaNH,
[P] —2— C;H,Br, T [Q}

20% sto4
Hg”, A

Zn-Hg/_l—lC! . 1S]

[R]

Emﬁmmaq,nmaasmww :
A P REAWTAEIRE (B

(O S, %, T, S Dy

.33

S, H,$ (D) €037, c0,

S H,S ® €05 ,co,

ethane, ethyne, ethanal, ethene
ethyne, ethane, ethene, ethanal

'P.T.0.
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73. The number of poss:ble organobronune compo‘tinds’ whlt'h can be obtamed in thc allyl:c -

74.

'brommation of 1 - butene with N - bromosucclmrmde is

W ®m2  ©3 = s

1 - butene- G STCF N - mmﬁﬁﬁﬁmwmﬁv@ﬁwm@mm_' o
: m@mmmm ‘

ey Al

(A) 1_ o | “B) 2 o © 3 D) 4

A metal M (spec:ﬁc heat 0.16) forms a metal chlonde wnth 65% ch]onne presmt in it.
The formula of the metal chlonde will be '

o (A) Mt (B) Mczz (© M’c'g | (D) MCl,

75.

aﬁwmmmwo 16) aﬁmmﬂtﬂwm 65% @Iﬁﬁmi_
W@ﬁﬁ@ﬁ:’ami@

(A) Mcl B Mct2 \ (©) MCl (D) MC,

During a reversible adiabatic process, the pressure of a gas is found to be proportional to

the cube of its absolute temperature. The ratio -C—p for the gas is

@ 32 ® ©

o |~

9
D) -
( ) 3

W | h

- .aﬁﬁ@m WMWWWWWWQ@NW(P) a’fi@

Wmm@mc -amb:@

(A) (D)

Wl

B |
® = ©

|
R ) Y-



. PQ*-Zﬂls_,L‘g

et Cotegory HI(Q. 76 to Q. 80)

L

Carry 2 marks each and one or more option(s) is/are correct, If all correct answer’_é are not

~-marked and also no, incorrect answer is mai‘ke_d then score = 2 X number of correct

answers marked + actual Ipnmber of correct answers. If any wrong option is marked or if

any combination including a wrdng option is mark-ed the answer will considered wrong,

but there is no negatwe marking for the same and zero marks will be awarded.

quﬁvwm| wﬁaﬁw@wﬁmzmmmﬁmw@wmm
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76.

1, meﬂimml

White phosphorus P, has the following ch_aractcdsticé :

" (A) 6P P single bonds

(B) 4P-Psinglebonds

(C) | 4 lone palr of electrons

B (D’) P-P- Pangleof60°

STV FORFART P, —«ﬂﬁﬂfﬁﬁﬁ?ﬂﬁ@ﬁaﬁm

(A) Qﬁ:‘P P'-QWW |

- (B) siaﬁp-—Pmam

© oraf s Sl oo

(D) G°FFP-P-PTM
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B A Thé_poss_ible product (s) to be obtained from tl'_le_redction'of cyclobutyl amine with HNO,

o o
e e )
0
/
® o

' — CH;OH.
© ; ; :
(®) H,C==CH, .

RGPS SRR e HNO,-qa RRFR NesT & i /chmsfer et 2081 5167

e/ mrafer e
- OH
(A) |

o
(B) :

, —CHOH
© \/ -

I(D) H,C==CH,
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78.  The major product(s) obtained in the following reaction is/are |

H3C\. _ /H
' ==C_

A
CH, | | . "~ CH,
H—+—Br H——}——Br
(A) H.~.---—.-',—Br IR (:) B W T O
CH, S . CHy
CH, CH,
Br—+—H B',___.__.__H
© p——an ®) pr——"N—n
- C,Hs | o CHy
fraterfire ffemm Seom 3 dAofs /corafer 1 |
- H:C - _H
>C=C< - +Br,——>
H CONCHs -
CH; : CH;
H—+—Br H—}—Br
A g—t —p . ® gl g
C,H, \C,H
CH, CH,
.Br——-é—_H_ L - Br————H
© g—a—s: O gy
B h | 37
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Which statemants are correct for the peroxide’ 1ﬁ 75 e

(A) lt has five completely filled antn«bondmg molecular orbitals.

| (B) ltis dlamagnetlc.

(C) Ithas bond order one.

(D) Itis isoelectronic with neon.

- wﬂsmmm@ﬁ%@%m ?

(A) SR ﬂ“ff@l@ #4<f anti-bonding Y orbital SR F6fb

- 80,

' (B)' Wﬁ;dmmagnenc

(C) G, SRR I |

) aﬁ W TR ﬁ?ﬁ lsoelectromc
Among the foll_ovﬁng, the extensive variables are
(A) H (Enthaipy)

(B) P (Pressure)

(C) E (Intemnal energy)
(D)‘ \' (Volmne) : S
ﬁ'ﬂﬁiﬁl@ vanable @ T extensive variable @ﬁl A

*) H(tﬂmﬁﬁ)
(B): E(B)
(© E@Dre e

-(D)_vmm@-r)
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SPACE FOR ROUGH WORK
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